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QUESTION 1

Click the Exhibit button. 
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You are configuring an EVPN overlay to allow VLANs to be stretched between two campus sites, but EVPN routes are
not being exchanged. 

Referring to the exhibit, which configuration statement would solve this problem? 

A. Apply the delete protocols bgp groupEVPN cluster 172.1.1.55configuration on MX2. 

B. Apply the set protocols bgp group EVPN family inet-vpn anyconfiguration on MX1 and MX2. 

C. Apply the delete protocols bgp group EVPN multipath multiple-as configuration on MX1 and MX2. 

D. Apply the set protocols bgp group EVPN family evpn signaling configuration on MX2. 

Correct Answer: D 

 

 

QUESTION 2

Which two statements about BGP communities are true? (Choose two.) 

A. A community is not a transitive attribute. 

B. A prefix can only belong to one community. 

C. A BGP device can set, append, or modify the community of a route. 

D. A prefix can belong to more than one community. 

Correct Answer: CD 

 

 

QUESTION 3

You have an MX960 configured as a Fusion aggregation device (AD) and two QFX5100 switches as satellite devices
(SD). You have configured local-switchingfor each SD. A packet with an unknown MAC address is received on one of
the SD extended ports. 

Which statement is correct in this scenario? 

A. The packet is dropped and a reject message is sent out to the port where it was received. 

B. The packet is silently discarded and a reject message is sent to the AD. 

C. The packet is flooded out of all the ports on the SD except the one where it was received. 

D. The packet is sent to the AD to be processed and forwarded. 

Correct Answer: D 
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QUESTION 4

Which two statements are correct about a functional ESI LAG interface? (Choose two.) 

A. The LACP system ID must be the same. 

B. The ESI values must be the same. 

C. The LACP system ID must be different. 

D. The ESI values must be different. 

Correct Answer: AB 

 

 

QUESTION 5

Click the Exhibit button. 

You have configured MSTP in your Layer 2 network. You are having problems with it establishing correctly. 
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Referring to the exhibit, what is causing the problem? 

A. The region name is not correct. 

B. You must assign a context ID number other than zero. 

C. The MSTI-to-VLAN mapping does not match. 

D. The revision number is the same on both devices. 

Correct Answer: C 
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